NETZE=RO

FIR

E

e NetZero Safety Screen Installation Instructions

NetZero Model

Safety Screen Part Numbers

Solo Grace Part Numbers

NZ36F / NZW36F AA-11-05167 AA-11-05184 — AA-11-05189
NZAOF AA-11-05190 AA-11-05191 - AA-11-05196
NZ48F / NZWA48F AA-11-04897 AA-11-04898 — AA-11-04903
NZ60F AA-11-05197 AA-11-05198 — AA-11-05203
NZ72F / NZW72F AA-11-05204 AA-11-05205 - AA-11-05210

REV A

Safety Screen

REQUIRED TOOLS

Phillips Screw Driver

Optional Tools:
1/4” nut driver or rivet gun

o

85-03-01238



Table of Contents

REQUIRED TOOLS ...ttt ettt ettt e et s s e e ettt e b s s s e ettt e e b s s s e e e s et e b b s s e e e s eeebbae s s eeeeeennnnas 1
FINISHING THE FIREBOX ...ttt et e e e et a s e e e et e e e b s e e e e st eab b s e e e eeeeannnas 3
KIT CONTENTS . -ttt e ettt e e e ettt s s e e ettt e b s s e e e st e e e b s s s e e e st e e b b s e e e et e aabba s s eeaseennnnas 4
MOUNTING THE SAFETY SCREEN OR GRACE FRONT ONTO THE FIREBOX .....uuciiiiiiiiiiiiiiin ettt 5
ATTACHING BRACKETS TO THE FIREBOX......e ittt ettt s e e e st aa s s e e e e e eennnas 5
ATTACHING THE SCREEN OR GRACE FRONT TO THE BRACKETS ...ttt ettt et 5
REMOVING THE SCREEN OR GRACE FRONT FROM THE BRACKETS ....ccvttiiiiiiiieiitiiii ettt 6

REV A 2 85-03-01238



FINISHING THE FIREBOX

The firebox comes with optional finishing guides. These guides install to the front face of the firebox. They provide
an edge that can be finished up to with finishing material and will then cover the cut edge of the finishing material.
The guides protrude 1/2 inch from the face of the firebox. For the best results use 1/2 inch thick finishing material

with the guides.

Install the guides using the included rivets or screws. If using the deflector at the top of the firebox the deflector will
serve as the top guide. After installing the guides verify that the guides meet in the corners and that the opening

matches the dimensions below.

GUIDE DIMENSIONS
(OUTSIDE TO OUTSIDE)

B
» A I
Guide Dimensions
Firebox A >
(in) (in)
NZ36F 36-1/16"
NZAOF 40-1/16”
NZA8F 48-1/16"
NZ60F 60-1/16" 20-1/16"
NZ72F 72-1/16"
NZ90F 90-1/16”
NZ108F 108-1/16"

REV A

85-03-01238



KIT CONTENTS

NOTE: If you have a grace front, the grace frame will be attached to the screen already.

It is not required to use the screen with the grace front. If desired, the screen can be removed by removing the
screws on the back of the screen.

Z

NZ SCREEN BRACKET MAGNETIC RH —
HA-125-00096

%

i

NZ SCREEN BRACKET MAGNETIC LH !
HA-125-00095

SCREW, 10-24 X 1/2 TPHMS BLJXT

50-01-00170

SCREEN REMOVAL TOOL

N

HA-125-00141
SAFETY SCREEN —
Replacement | Replacement
Screen for Screen for LH Bracket RH Bracket
Grace Front Safety Screen
NzZ36F | HA-125-00142 | HA-125-00137
NZ40F | HA-125-00145 | HA-125-00144
Nz48F | HA-125-00087 | HA-125-00084 | HA-125-00095 | HA-125-00096
NZ60F | HA-125-00148 | HA-125-00147
NZ72F | HA-125-00151 | HA-125-00150

85-03-01238



MOUNTING THE SAFETY SCREEN OR GRACE FRONT ONTO THE FIREBOX
ATTACHING BRACKETS TO THE FIREBOX

Attach the brackets to the side of the firebox with the provided screws. The brackets are different for each side.
Ensure the screen tab is oriented towards the bottom. Set the hanging brackets to the desired screen or front depth
and tighten the screws to the firebox with a phillips screwdriver. The brackets can be set to varying depths, flush
with the front of the firebox at a minimum to a maximum of 3” from the face of the firebox.

SCREW, 10-24 X 1/2 TPHMS BLACK
50-01-00170

LEFT HAND BRACKET ASSEMBLY
HA-125-00095

SCREW, 10-24 X 1/2 TPHMS BLACK
50-01-00170

SCREEN TAB

ATTACHING THE SCREEN OR GRACE FRONT TO THE BRACKETS

The screen or grace front is attached to the brackets using magnets. To attach the screen or grace front to the
brackets, place the bottom of the screen against the screen tab and gently push the screen or grace front towards
the hanging bracket- the magnets will secure it into place. The screen or grace front can be moved up or down
slightly to ensure the gap on all sides is consistent. The screen or grace front are symmetrical, there is not a
designated top or bottom.

5 85-03-01238



REMOVING THE SCREEN OR GRACE FRONT FROM THE BRACKETS

To remove the safety screen or grace from the magnetic brackets use the screen removal tool.

1. Turn the tool sideways and and slide it into the gap between the top guide and the top of the screen until

the hook is past the backside of the screen.

Rotate the tool 90 degrees to rotate the hook downwards to make contact with the back side of the screen.
Pull the tool towards you to disengage the magnetic attraction between the screen and the bracket.

6 85-03-01238



